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1.

Which one of the following is not a

centurion ?

(A) Times of India

(B) Indian Express
(C) The Hindu

(D) Mumbai Samachar

What is the detailed information
collected by a researcher from

original sources called ?
(A) Secondary data

(B) Primary data

(C) Data sheet

(D) Database
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Which of the following is not an

association of Indian Journalists ?

(A) UNI

(B) IFWJ

(C) 1IJU

(D) NUJ

Which of the following is brought

out by the Press Institute of

India ?

(A) Communication Today

(B) Vidura

(C) Communicator

(D) Media Mimansa
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“As we trace communication from
Interpersonal to mass level
(a) messages become more
structured and, (b) dynamic
interactivity keeps on increasing.” In
the context of above statements

which option is correct ?

(A) Only (a) is true but (b) is false

(B) Both (@) and (b) are false

(C) Only (b) is true but (a) is false

(D) Both (@) and (b) are true

‘Down to Earth’ is mainly devoted

to :

(A) Arts

(B) Health

(C) Theatre

(D) Environment
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Who stated ‘medium is the

message’ ?

(A) Robert Merton
(B) Claude Shannon
(C) Marshal McLuhan
(D) Harold Innis

Which is the largest circulated daily

in South India ?

(A) Lokmat

(B) Kerala Kaumudi

(C) Malayala Manorama
(D) Vijaya Karnataka

What Shannon and Weaver’s
model does not include from the

following ?
(A) Sender
(B) Noise

(C) Context

(D) Transmitter
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10. Which of the following is not a

11.

12.

sampling technique ?
(A) Snow-ball

(B) Quota

(C) Accurate

(D) Stratified

Which of the following rights
is violated if one indulges in

plagiarism ?

(A) Right to Information

(B) Right to ownership of creative
writing

(C) Right to privacy

(D) Copyright

Which of the following is not
included in Harold Lasswell’s

definition ?
(A) Who

(B) Whom
(C) What

(D) When
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13.

14.

15.

Who is the owner of Wall Street

Journal ?

(A) Steve Case

(B) Ted Turner

(C) Rupert Murdoch
(D) Samir Jain

Who directed ‘The Birth of a

Nation’ ?

(A) Georges Melies
(B) Robert Flaherty
(C) D.W. Griffith
(D) Goddard

>

‘The passing of Traditional Society
was the most influencial work in

which area ?

(A) Development communication
(B) Social media

(C) Video production

(D) New media
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